70.0 r

60.0

50.0 r
40.0 r
30.0 r

20.0

10.0 ¢

0.0

-10.0
-20.0 -

No.2

2004.1.21
2003 12 50.7
95 2003 34.6
1 1
2000 2002 2003
2003 10 2003
107 2003 2.5
2003 12 27
1
21
12 15
1
17 13 15 13 13 11
10 11
2003
/
12.0
10.0
8.0
a-b
6.0 —2003 (a)
4.0 =A=2000 2002 )
2.0 -
0.0 WLH
-2.0
0101 0107 0201 0207 0301 0307 1 2 3 4 5 6 7 8 9 10 11 12
13 2003 8.2 20.3
461 11
11 11.9 12 2003

5000



No.2

96

30

200

100

-100

-200

-300

-400

1996 1997 1998 1999 2000 2001 2002 2003

2004 94 10

15 24
20

2004

30.0

25.0

20.0

15.0

10.0

5.0

0.0

20

1999 2000

0.0

-20.0

-40.0



